Auxiliary Problems for Chapter 7 
1.
In a Treasury Inflation Protected Security (TIPS), one’s real interest rate is fixed (i.e., protected against inflation). How does this differ from a traditional bond?  

2.
You borrow $15,000 at a fixed nominal interest rate of 7 percent per year. If annual inflation turns out to be 10 percent, what is the real rate of interest?

3.
Home Depot agreed to pay its workers $13 an hour in 2003 and $17 an hour in 2007. The CPI in 2003 was 196 and 205.5 in 2007. Calculate the real wage in each year. Did their real wage increase at the same rate as their nominal wage?

4.
For the past decade medical care in the U.S. has increased at 7 percent per year. If 2010 expenditures are $7,500 per person, what will expenditures be in two years if growth continues at the same rate?
5.
Suppose for the next 3 years your annual income will be $70,000 and the rate of inflation is estimated to be 3 percent per year.


a)  Find the real value of $70,000 for each of the next 3 years.

b)  If inflation were to be 10 percent, what would be the real value of income for the next 3 years?
6.
Given the item weights for the following goods, calculate the average rate of inflation over the past year.

	Item
	Unit Price
	Percent change 

in price
	Item Weight
	Inflation

impact

	
	Last Year
	This Year
	
	
	

	Shoes
	$80
	$87
	
	0.30
	

	Laptop
	$1,500
	$1,450
	
	0.50
	

	Lg. Pizza
	$16
	$19
	
	0.20
	


